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PRINCIPLES OF ECONOMICS HSSC-I .
SECTION — A (Mgrks 15) o

Time allowed: 20 Minutes Version Number [3[1]6[1]

NOTE: Section — A is compulsory. All parts of this section are to be answered on the separately provided OMR

Answer Sheet which should be completed in the first 20 minutes and handed over to the Centre
Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Choose the correct answer A/ B / C / D by filling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark.

1) Who was the founder of ciassical school of thought?

A Adam Smith B Marshall C. Rebbins D Keynes
2) The utility of an additional unit of consumption is called:

A Average utility B. Marginai Utility C. Total Utility D Positive Utility
3) Price of a product falls by 10% and its demand rises by 30% the elasticity of demand wili be:

A 30% B. 10% C. 3 D l
4) Supply curve will shift up or down when:

A Price rises B. Price falls

C. Demand changes D. Method of production changes
5) The egquilibrium of market is:

A Qd-Qs=0 B. Qd=0 C. Qs>Qd D Qs<Qd
6) The rate of change in total production is called:

A Average production B. Marginai production

C. Variable production D. Constant production
7) The Average Cost (SAC) curve in short run is:

A. U-shaped B. Saucer shaped C. L-shaped D. Envelope shaped
8) The method of calculating total revenue is:

A AC=Q B e C. P=Q D PeaAC

o

9) The supply of land is:

A Fixed B Variable C. Unlimited D Marginal
10) The amount of money for wear and tear is called:;

A Total expenditures B. Depreciation expenditures

C. Fixed expenditures D. Average expenditures
11) The reward of capital is called:

A. Price B. Rent C. Interest Rate D Profit
12) The currency note of Rs.5000/- in Pakistan is:

A Metaliic Money B Credit money C. Paper money D. Near money
13) The relationship between value of meney and price is:

A Direct B Inverse C. Parallel D Indirect
14) Atypical "‘Business Cycle” has phases.

A Two B Three C. Four D Five
15) At which rate do the Muslims pay zakat?

A 2% B. 2.5% C. 3% D 3.5%
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PRINCIPLES OF ECONOMICS HSSC-
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Time allowed: 2:40 Hours Total Marks Sections B and C: 60

Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

NOTE: provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and legibly.
SECTION ~ B (Marks 36)
Q.2 Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. {9x4=36)
(i) Write Alfred Marshall's definition of econcmics.
(i1} Reproduce the following table on your answer sheet and compete it:
'Quantty | Total Utilty | Marginal |
‘] (Q) \} (TU) ; Utility (MU)
1 6* o | ]
2 10
3 1é N ]
4 2
5 10
6 6 o
(i1 What is meant by contraction in demand?
(iv) With the help of information given below:
CRIRE
E ’ 100 150 j
é.é_lé:uléfe Elasticlagsﬁpply,
(v) Differentiate “Market Price” and “Normal Price”.
(vi) What is meant by production of wealth?
(vil) How can Average Fixed Cost (AFC) be calculated?
(viii) Write down the Firm's Equilibrium conditions under perfect competition.
(1x) Write down any four difficulties in the measurement of National income.
(x) Define "Barter System of Exchange”. Also give an example.
{xi} Define "Trade Cycle". Briefly elaborate with an example
{xii) Who are the beneficiaries of Zakat?
SECTION — C (Marks 24)
Note: Attempt any TWO questions. All questions carry equal marks. (2x12=24)
Q.3 Explain "Law of Demand” with schedule and diagram.
Q.4 Explain the "Law of Diminishing Returns” with schedule and diagram?
Q.5 Whatis meant by Tax? Explain Adam Smith's Canons of Taxation.
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